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CLASS:
Dilations
12 Questions el
1. Triangle ABC will be dilated by a scale factor of 1/2. What will be
?m? n the coordinates of C'?
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7o Enlargement or reduction? Find the scale factor
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It's an enlargement; the scale factor is 2. It's a reduction; the scale factor is 2
It's an enlargement; the scale factor is
It's a reduction; the scale factoris 1/2 1/ & 5
- 1;‘5 < ALIN L Rectangle ABCD is dilated so that A' is located at (3, 6). What
; could be the dilation rule?
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4 N Triangle ABC is dilated so that the coordinates of C' are (2, -1).
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